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00AKFT JEET FAI7)LE 0.10 1271 04
00T FHr FAI7ILE 0.13 1419 01
00A&T 3 AH a1 —k 0.15 1180 01
00T H+33 BEA 2ith 0.25 1136 02
00A&T T+30 K 7% F 0.23 1136 03
00T f+i0 IEF FAI7ILE 0.09 1181 05
00 AT f+30 Lz 2ih 0.10 1094 02
00KT f+i0 = Eih 0.08 1094 03
00A&T H+50 T 12 1 0.09 1138 01
00A&T 430 =M b F| 0.07 1138 03
00 KT f+30 =l 2ih 0.09 1138 02
00KT 430 A LI T FAI7ILE 0.07 1137 01
00 KT f+30 s LI T FAI7ILE 0.07 1137 02
00T Eg Y] i LLI T FAI7ILE 0.09 1137 03
00T T+ W= Bih 0.23 1094 01
00T f+i0 M= FAI7ILE 0.09 1095 01
00T ASTHT 2ih 0.12 1179 03
00T L HT FAI7ILE 0.11 1370 01
00AT A HEET FAI7ILE 0.08 1367 03
00KFT AN HHET T AI7ILE 0.09 1367 05
00AT A HEET FAI7ILE 0.11 1367 07
00T pNEEL avy)—k 0.06 1368 03
00T K HT a 91—k 0.17 1369 03
00T & B T FRIT7IVE 0.23 1368 06
00AT & B5 T FAI7ILE 0.08 1369 02
00A&T &0 LI AT Hih 0.12 1221 02
00KT EHHET FAI7IE 0.07 1222 01
00T ZHHET FAI7ILE 0.07 1223 02
00T L ERT FAI7ILE 0.11 1371 02
00T EET FAI7ILE 0.10 1371 03
00T L ERT a o) —k 0.12 1371 05
00T L HZERNHET FAI7ILE 0.12 1271 06
00KT Jemr FAI7IE 0.16 1370 02
00KFT & EHT avy)—k 0.12 1321 01
00KT [ER:) FAI7IE 0.11 1321 03
00KFT & EHT FAI7ILE 0.09 1322 01
00KT [ER:) FAI7IE 0.12 1322 02
00KFT & EHT FAI7ILE 0.07 1372 03
00T HZRNHAT FAI7ILE 0.08 1320 08
00A&F % A ET FAI7ILE 0.15 1271 02
00A T S A ET T AI7ILE 0.10 1272 03
00T A AHBT FAI7ILE 0.11 1418 03
00A&T Ex1L I Bith 0.18 1221 03
00A&F EEST HEETIE 2ih 0.15 1136 01
00T EXIL &L b F 0.16 1179 04
00A&F EEST EETA 2ih 0.23 1221 04
00A&T Ex1L P Bith 0.11 1179 02
00A&T [ERT FAI7ILE 0.09 1318 05
00KJT AT FAI7ILE 0.08 1319 01
00KFT T FAI7ILE 0.15 1320 07
00A T FEr avoy—k 0.13 1319 04
00KFT &I BT FAI7ILE 0.07 1417 01
00&JT 2 EN FAI7ILE 0.08 1420 01
00KFT ;& BAHT FAI7ILE 0.12 1418 01
00KT e AAET FAI7ILE 0.13 1419 04
00KFT ;& BAHT FAI7ILE 0.08 1467 01
00KT HiEHAT FAI7ILE 0.10 1268 02
00T {rh Fis T FAI7)LE 0.05 1320 02
00T KR ET FAI7ILE 0.14 1268 07
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00T X AR ET FAI7ILE 0.10 1269 01
00A&T X fRET FAI7ILE 0.13 1318 04
00 AT o T ava)—k 0.17 1419 03
00KT 27 H AT ERE Hih 0.06 1216 03
00KT EF AT +HiBA FAI7ILE 0.09 1217 04
00T 57 HHET /N FAI7ILE 0.07 1266 01
00A&T 25 [ fiT ch / fi7 2ih 0.07 1216 02
00A&T S HET— T B avoy)—k 0.08 1316 05
00KT S HET—TH FAI7)LE 0.07 1366 02
00T S HET—TH FAI7ILE 0.08 1366 04
00KT ZHET=TH FAI7)LE 0.07 1266 06
00T G HET=TH FAI7ILE 0.08 1316 03
00AT ZHET=TH FAI7)LE 0.06 1317 01
00T G HETET B FAI7ILE 0.07 1265 06
00T EAETR T B a g )—k 0.21 1316 01
00A&T S AMETNT B avHy)—k 0.10 1315 03
00AT FHEETH FAI7ILE 0.07 1265 03
00T G HETETH FAI7ILE 0.08 1315 05
00AT 1EEIET FAI7ILE 0.12 1270 02
00KFT EE BT T AI7ILE 0.08 1270 05
00AT JEEET FAI7ILE 0.09 1321 04
00T B iHET T AI7ILE 0.11 1319 06
00AT BEhR—TH FAI7ILE 0.08 1265 01
00KfT REMAT T AI7ILE 0.12 1224 03
00T BEMT ] 0.20 1225 03
00A&T BRAT R 0.12 1225 04
00KT BUEAT FAI7IE 0.10 1272 01
00KFT REMAT FAI7ILE 0.10 1272 02
00KFF BUEAT Bih 0.20 1273 02
00A&F B EAT 2ith 0.12 1273 04
00KT BUEAT FAI7IE 0.12 1322 04
00T FHSHET FAI7ILE 0.08 1370 03
00T Y AT AT a o) —k 0.11 1181 02
00T Y& AT HT FAI7ILE 0.08 1181 04
00T AT AT Hifh 0.08 1225 01
00T b\ SR T FAI7ILE 0.10 1223 01
00KT AR ET FAI7IE 0.10 1223 04
00T b\ SR T FAI7ILE 0.14 1224 01
00T =kl avol)—k 0.08 1317 05
00T =3 AT TFAI7ILE 0.11 1317 07
00A&T = ;A Ea AT avoy—k 0.15 1318 08
00KFT EHER—TH FAI7ILE 0.08 1315 01
00T F AT FAI7ILE 0.11 1467 05
00T Al FAI7ILE 0.10 1467 06
00T F AT FAI7ILE 0.09 1468 03
00AFT Ea T FAI7ILE 0.11 1517 03
00T = FHT FAI7ILE 0.10 1269 03
00T = AT FAI7ILE 0.09 1269 05
00A T AHT T AI7ILE 0.06 1369 07
00A&T Za FAI7ILE 0.08 1220 01
00KJT Zoir FAI7ILE 0.07 1220 02
00T &5 FAI7ILE 0.11 1222 05
00T HZEHT avs)—k 0.11 1268 04
00T J\EHfT FAI7ILE 0.08 1180 02
00T J\SHT FAI7ILE 0.05 1180 03
00T J\EfT FAI7ILE 0.05 1224 02
00A&T 2 &I avoy)—k 0.09 1417 02
00T ES] FAI7ILE 0.09 1417 04
00T K &I HT FAI7ILE 0.09 1418 04
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00A&JT HNET FAI7)LE 0.13 1468 04
00KJT LI T HET T AI7ILE 0.07 1222 03
00AKFT LI HT FAI7I)LE 0.11 1270 03
00KJT LX) T AI7ILE 0.24 1368 04
O1;EF INEF TR F 0.24 1518 03
01ER INEF A/ E fibF 0.11 1567 02
O1;EF INEF fufrH b F 0.15 1567 01
01ER INEF RIEW fibF 0.16 1519 05
O1EH INEF nERN FAI7)LE 0.07 1659 03
O1EF INEF Ha Hih 0.13 1518 01
O1;EF INEF #FiF L B F 0.22 1567 03
O1ER INEF ART FAI7ILE 0.11 1566 01
01EF INEF Yl Hih 0.38 1614 01
O1EFI INEF =r=l b 0.25 1615 01
O1EFI INEF FEF fbF 0.08 1705 01
O1EFI INEF M/ FRXI7I)LE 0.11 1613 01
O1EFI INEF B EHih 0.27 1518 02
O1EFI INEF f /A FRXI7I)LE 0.09 1566 02
ORI INEFF =G 2ih 0.17 1660 03
O1EFI INEF 5i5 Eih 0.11 1614 04
O1EFI INEF BR Bt EHih 0.25 1614 03
O1EFI INeF EHL Bih 0.34 1615 02
O1EFI INEF TEH (e 0.16 1519 06
O1EFI mEE—TH Bih 0.23 1660 02
O1EFI mEmE—TH FAI7)LE 0.08 1706 01
O1EFI mEE—TH FRXI7I)LE 0.08 1706 02
O1EF| mERE—TH FAI7IE 0.14 1706 03
O1;EF EAE=TH Eih 0.15 1660 01
O1EF| EEE=TH FAI7IE 0.09 1661 05
O1;EF EEE=TH FAI7I)LE 0.08 1707 02
O1EF| EEE=TH FAI7IE 0.13 1707 03
O1:EF EF Ft Bih 0.33 1273 01
O1EF| EF FEEL BHih 0.12 1710 02
O1;EF EF —&BFHK Zih 0.30 1662 04
O1EF| EF & I ET FAI7IE 0.16 1372 01
01EF EF E5HT FAI7ILE 0.19 1423 07
O1EF| EF /KM Bih 0.14 1274 01
O1:EF EF BEF Bih 0.36 1615 03
O1EF| EF BEF avoy—k 0.11 1661 03
01;EF EF BEF TFAI7ILE 0.10 1661 08
01;EF| EF BET Hifh 0.37 1662 01
01:EF EF SEF Eih 0.17 1662 02
O1EFI EF m A AT FAI7ILE 0.15 1422 02
01:EF EF KAR FAI7ILE 0.08 1469 04
01;EF| EF Rk Bt 0.24 1803 02
O1;EF EF KRk 2Hh 0.16 1849 02
O1EFI EF REZIE FAI7ILE 0.10 1472 05
O1;EF EF ShHET FAI7ILE 0.09 1421 02
O1EFI EF SET a4y )—k 0.11 1471 01
01EFI EF /Mt b F1 0.18 1521 03
01;EF| EF IR Hifh 0.35 1521 02
O1LEFI EF /NFHRT Bih 0.19 1520 02
01;EF| EF RF Hifh 0.42 1424 03
O1ER EF HFUAyRT  |EHh 0.28 1426 04
01;ER ER BAE FAI7IE 0.09 1472 04
O1;EF EF =T b F 0.09 1708 02
O1EF ER JIl = HT FAI7IE 0.26 1372 02
O1EH EF ER Hih 0.21 1803 03
01;ER EF AxHA FAI7IE 0.13 1423 02
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O1EF EF RT F 0.19 1424 02
O1EF EF EEWN FhF 0.19 1323 01
O1EF EFR =AK B ih 0.24 1323 02
O1EF EF EEWN | 0.41 1323 03
O1ER EF TEA Hih 0.18 1708 03
O1EF EF AL FAXI7ILE 0.08 1420 07
O1ER EF iR Hih 0.28 1521 01
O1EF EF E P HET FAXI7ILE 0.09 1470 08
O1EH EF i FAI7)LE 0.12 1423 05
01ER EF xB Bih 0.28 1425 04
O1;EF EF T A (e 0.16 1520 04
01ER EF EATH FAI7ILE 0.18 1471 04
01;EF EF b T T FAI7)LE 0.11 1422 04
OLEF EFI E#HH Bih 0.21 1666 01
O1EFI EF K Hifh 0.35 1426 02
O1LEF EFI IR Eih 0.28 1709 03
O1EFI EF BT R F 0.22 1424 01
O1EF R FE 2ith 0.11 1666 02
O1EFI EF FOE Hifh 0.25 1666 03
O1EFI EFI PN b F 0.12 1713 02
O1EFI EF HiGHT FAI7)Lk 0.11 1421 03
OLEF EFI Ei5HT FAXI7I)LE 0.09 1470 02
O1EFI EF & Hih 0.21 1522 01
O1EFI EFI 5 b Fl 0.14 1522 03
O1EFI EF EHIFHET FAI7)LE 0.08 1421 01
OLEF EFI 3 FRXI7I)LE 0.11 1472 02
O1EF| EF H A BHih 0.25 1425 01
O1;EF EF HR Bih 0.36 1425 02
O1EF| EF E& R 0.11 1519 03
O1LEF EF fti5 FAI7ILE 0.09 1420 02
O1EF| EF HiE FAI7IE 0.08 1468 02
O1;EF EF AiE FAI7I)LE 0.17 1469 03
O1EF| EF & BHih 0.27 1426 01
01;EF EF ES TFAI7ILE 0.12 1707 04
O1EF| EF [\ L BHih 0.29 1520 03
01;EF EF EEAMAT FAI7I)LE 0.09 1470 03
O1EF| EF NS FAI7IE 0.17 1469 01
O1;EF EF J\iBHET FAI7I)LE 0.10 1422 07
O1EF| EF #®T FbF 0.09 1710 01
O1;EF EF = Hih 0.34 1522 04
01;EF| EF = I RO F 0.20 1708 01
01EFI EF E N b F 0.21 1709 01
O1EFI EF i FI BT FAI7ILE 0.14 1471 09
O1LEFI EF ZNG1E 2ih 0.18 1709 02
01;EF| EF ER1E Hifh 0.18 1710 03
0242 E 25 Fig Bih 0.18 1844 02
02%2& 25 L+ /HT FAI7ILE 0.06 1704 05
0242 E 25 L /HT Eih 0.09 1705 02
02%2& 25 L /Hr RO F 0.09 1705 03
0242& 25 SREA LU Eih 0.15 1750 01
02%2& 25 HEE FAI7ILE 0.06 1612 04
0242& 25 T /% FAI7ILE 0.06 1658 01
0282 F 25 i=h FAI7ILE 0.06 1657 03
0242 25 Sabiis FAI7ILE 0.09 1657 01
0282 F 25 B/F FAI7ILE 0.09 1704 04
0242 FE 25 J\ERN FAI7)LE 0.06 1659 02
0242& 25 EFHIS FAI7IE 0.06 1658 03
0282 & 25 EHIG FAI7)LE 0.06 1659 01
0242& 25 #/A FAI7IE 0.06 1657 02
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0242F 25 #H/A FAI7ILE 0.05 1658 02
0242& 25 R Bih 0.06 1751 01
0242& 25 PR Hih 0.07 1751 02
0242& 25 PR Eih 0.14 1751 03
0242& 25 R FAI7I)LE 0.07 1797 02
0282 & 25 R FAXI7ILE 0.09 1797 03
0242 o= £ 5ART avy)—k 0.08 1516 04
0282 F BEF B fa FAXI7ILE 0.09 1564 02
0242 o= B FAI7)LE 0.08 1564 03
0282 F BEF B EE 31 FAI7ILE 0.09 1517 04
0242 o= =] BT FAI7)LE 0.09 1516 01
0282 F BEF B [m] BT FAI7ILE 0.11 1516 02
0242F REF — A4 FAI7)LE 0.06 1610 01
028 F REF — 24 FRXI7I)LE 0.06 1610 03
0242 FE REF HEE FAI7ILE 0.06 1609 01
0282 F KEF R FRXI7I)LE 0.05 1610 04
0242 REF B FAI7ILE 0.07 1611 03
0282 F AXEF B/t FAI7ILE 0.05 1563 05
0242 & REF IR FIX FAI7)LE 0.11 1656 02
0242 & KEF R/H FAXI7ILE 0.07 1611 02
0242F REF =12 FAI7ILE 0.07 1564 01
0242 & KEF BT/ N FAXI7I)LE 0.06 1611 01
0242 ENEF =0 FAI7ILE 0.19 1565 01
0282 F ENE =4 FAXI7I)LE 0.07 1612 01
0242E EAXH 2/ N FAI7I)LE 0.07 1566 03
02423 EXE £ FAI7ILE 0.08 1613 02
0242 F ERNEF X FAI7IE 0.12 1517 01
0212 & EANE HE FAI7I)LE 0.13 1565 02
0242F EA%H HE FAI7ILE 0.08 1565 03
0242 & EANE —YA FAI7I)LE 0.10 1613 03
0242 FE ERNEF K& A FAI7IE 0.09 1612 03
0212 & KiF RHA FAI7I)LE 0.07 1703 04
0242 FE K#F A HE FAI7IE 0.07 1704 01
0212 & KiF 1T AHI Bih 0.07 1749 02
0242 F KiF T AR R 0.08 1749 01
0212 & KiF &= FAI7I)LE 0.08 1703 01
02%2F KiF i) FbF 0.12 1795 01
0242 & K¥F B/ E R F 0.05 1796 02
0242F R B/ E avyy—k 0.05 1797 01
0242 & KIF = b F 0.08 1750 02
02%2& K w/A RO F 0.07 1750 03
03FE X B IKHET FRAEIR R 0.07 1842 02
03FE 3% ;e 7KHET —K# o F| 0.06 1934 01
PREEES S5 7K BT — A Bih 0.17 1980 01
03ZF % &K T FEiR B 0.14 1888 01
03FE X SEIKET L8 R 0.12 1796 03
03&F 3% & 7K BT & Hifh 0.10 1842 03
PREEES S5 7K HT F/E Eih 0.09 1888 03
03& 3% & 7K ET e Hifh 0.22 1887 03
03FE X SEIKET i R 0.09 1934 03
03FE 3% ;e 7KHET —iEE Eiih 0.13 1887 02
(REE3 sEIKET Hig 2 0.14 1842 01
03ZF % &K T LE B 0.06 1889 03
03FEX sE K ET =] R 0.10 1934 02
03ZF % HiR AR FAI7ILE 0.07 1938 03
PREET HiR A FAI7)LE 0.15 1939 01
03FE 3k HiR i R 0.10 1844 01
PREEES HiR AE Hih 0.18 1844 03
03ZE 3k HiR A FAI7ILE 0.09 1892 01
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03F X HiR 4/ B 2 0.11 1889 01
03:FX HiR =1 T AI7ILE 0.07 1843 01
03FE X HiR P FAI7ILE 0.07 1843 04
03:FX HiR =1 T AI7ILE 0.07 1843 05
03FE X HiR RR FAI7ILE 0.12 2032 01
03& 3% HiR ¥/ NBI FAI7ILE 0.12 1939 02
03FE X HiR ) FAI7ILE 0.11 1986 01
03FE X HiR 18 /R FAI7ILE 0.08 1891 01
03FE X HiR SRR FAI7ILE 0.12 1891 02
03& 3% HiR /A FAI7ILE 0.10 1892 02
03FE X HiR /K FAI7ILE 0.08 1892 03
03:FX HiR B/ E T AI7ILE 0.09 1890 04
03& 3% HiR B FAI7)LE 0.17 2032 02
03:FX HiR H [ TFAI7ILE 0.16 2032 03
03&EX HiR = A FAI7)LE 0.14 1986 02
03:FX HiR HERN FRXI7I)LE 0.12 1986 03
03&EX EXE—TH 7 F 0.06 1888 02
03ZE K EXE—TH FAI7ILE 0.09 1935 02
03&EX EXE—TH FAI7ILE 0.10 1935 05
03FEX EXEI=TH FAI7ILE 0.06 1935 03
03&EX EXE-TH FAI7ILE 0.07 1936 01
03FEX EXEI=TH FAI7ILE 0.08 1936 04
03F 3 EXEI-TH FAI7ILE 0.08 1981 01
03FEX EXEI=TH FAI7ILE 0.07 1981 02
03F 3k EXEI-TH FAI7ILE 0.06 1981 03
03FEX EXEI=TH FAI7ILE 0.07 1982 01
03F 3k EXEIZTH FAI7ILE 0.11 1982 02
03FEX EXE-TH avyl)—k 0.10 1982 07
03& 3% EXE=TH Eih 0.07 1889 02
03ZE K EXREI=TH FAI7ILE 0.11 1890 01
(REE3 EXE=TH FAI7ILE 0.08 1890 03
03ZE K EXRBI=TH FAI7ILE 0.11 1891 05
(REE3 ExETMTH FAI7ILE 0.09 1936 03
03ZE K ERETMTH FAI7ILE 0.11 1937 01
REE3 ExETMTH FAI7ILE 0.12 1937 03
03ZE K ERETMTH FAI7ILE 0.06 1938 01
03& 3% ExETMTH FAI7ILE 0.12 1938 02
03ZE K EXEETH FAI7ILE 0.10 1937 06
03FEXE EXERATH FAI7ILE 0.08 1983 01
033E 3K EXHEETH FAI7ILE 0.09 1983 03
(KEE3 EXEIRATH Eiih 0.13 1984 03
03FEX EXRIATH FAI7ILE 0.06 1983 04
(KEE3 EXEIATH B 0.10 2029 03
(REE3 EXRIATH FAI7ILE 0.07 2030 02
03FE 3% EXEIETH FF| 0.11 1984 01
03FEX EXRTETH Eih 0.16 1984 02
(KEE3 ExEETH FAI7ILE 0.10 2030 05
(REE3 EXRETH Eih 0.09 2031 01
03ZF % ExkET/\NTH FAI7ILE 0.11 1939 03
(REE3 ZERET/N\NTH FAI7ILE 0.12 1985 02
(KEE3 ExkET/\NTH FAI7ILE 0.09 1985 05
(REE3 ZERET/N\NTH FAI7ILE 0.12 1985 06
03FE X EXEI/NTH FF| 0.10 2031 02
04;F7K = R FAI7ILE 0.08 1130 01
04;& K R SEIKD FAI7ILE 0.14 1088 04
04;&7K R HKRAE FAI7ILE 0.08 1089 02
04;& K R T FAI7ILE 0.30 1089 03
04;&7K = TR FAI7ILE 0.09 1090 01
04;57K = =M FAI7IE 0.07 1131 01
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04;57K = SEE FAI7)LE 0.12 1132 02
04;57K = Kb FAI7ILE 0.08 1130 04
04;5 K = {hHE FAI7)LE 0.09 1132 04
04;57K = RiE FAI7ILE 0.12 1090 03
04;5 K = BN FAI7)LE 0.15 1131 02
04;57K = B/N avoy)—k 0.10 1131 04
04;5 K R LN FAI7)LE 0.14 1175 02
04;57K = BT avoy)—k 0.19 1174 02
04;F7K = BiEH FAI7I)LE 0.13 1089 01
045K f&IL HH Eih 0.12 1178 02
04;F7K LY —AK FAI7I)LE 0.09 1133 02
04;87K fEnLL — R FAI7ILE 0.11 1049 03
04;F7K i LY fiufr H FAI7I)LE 0.09 1134 02
04;57K L & FAI7ILE 0.08 1048 01
04;57K L R FAI7ILE 0.08 1133 01
04;87K &L E[&A R F 0.22 1135 03
04;57K i LY =H FAI7I)LE 0.14 1134 04
04;87K L A R F 0.09 1176 03
04;57K L] =FHEx FAI7ILE 0.10 1049 02
04;87K fEnLL EZ.XN FAI7ILE 0.09 1092 04
04;57K fEI L EXLU (e 0.14 1177 02
04;87K fEnLL Ex R F 0.18 1178 01
04;&7K i LY SHEKA FAI7I)LE 0.09 1134 03
04;5K L EF Bih 0.22 1177 03
04;57K fEI L = Hifh 0.23 1135 02
04;57K L B Eih 0.15 1135 01
04;57K fE L B R 0.10 1178 04
04;F7K fEnLL I FAI7ILE 0.08 1092 01
04;57K fEILL i /BT FAI7ILE 0.10 1091 01
04;F7K fEnLL {th /BT TFAI7ILE 0.07 1091 02
04;57K 1L hEE FAI7IE 0.09 1133 04
04;5 K &L iR Bih 0.17 1177 01
04;57K fEILL P Bih 0.20 1176 02
04;F7K fEnL HiIHE TFAI7ILE 0.06 1050 01
04;57K fEILL NI FAI7ILE 0.08 1090 05
04;F7K fEnL NIE FAI7ILE 0.08 1091 04
04;57K fEILL NI FAI7ILE 0.16 1092 02
04;F7K fEnLL LA FAI7ILE 0.11 1132 01
04;57K fEILL LLIH FAI7ILE 0.15 1175 01
04;57K LR X FEfr 2 Hh 0.13 1042 03
04;57K LR X BB Hifh 0.16 1043 05
04;F K LR Kz Bih 0.24 1000 03
04;57K LR X X#0HA FAI7ILE 0.08 1044 03
04;F7K LR JIENR FAI7ILE 0.08 1047 02
043& K LR JIIEH B 0.08 1086 01
045K LR MIF Bih 0.21 1043 03
04;57K LR X EK Hifh 0.20 1043 01
0455 7K LR S8t FAI7ILE 0.07 1002 01
04;57K JLIRX Fi T AI7ILE 0.10 1047 04
04;57K JtiRX BiEK FAI7ILE 0.11 1044 04
04;57K LR X A FAI7ILE 0.08 1045 04
04;57K JtiRX EX G 3 0.10 1085 01
043& K LR R aGIIEED 0.10 1085 02
04;57K JtiRX T EEL 2ih 0.13 1001 03
04;57K LR X R FAI7ILE 0.10 1048 05
04;57K JtiRX T FAI7)LE 0.09 1044 02
04;57K 57 HHET =% EHh 0.07 1172 01
04;&7K 5 H T A h FAI7ILE 0.07 1217 01
04;57K FHETMET B FAI7ILE 0.10 1266 03
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04;F7K SFHETETH FAI7ILE 0.09 1267 04
04;57K R At FAI7ILE 0.08 1128 01
04;F7K FRX L8R Bih 0.10 1083 01
04;57K R g Bih 0.13 1084 03
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1718F HTEER &ix FAI7ILE 0.37 1206 01
11E8E BT EEIR &iF FAI7ILE 0.08 1206 02
11EZ BT EEIR Jilay FAI7ILE 0.05 1164 03
11EE BT EEIR 1EiR FAI7ILE 0.09 1207 01
11EZ BT EEIR R Hih 0.16 1077 03
11E8E BT EEIR S Eih 0.17 1119 02
17EE HTEER [2H Hih 0.10 1254 03
11E8E BIEEIR [Rep 2 0.22 1122 03
175E BTEEIR BE/N 2 0.13 1120 01
175ZE HTEER HLHER EHih 0.14 1205 02
171E8= BIEEIR EM Hih 0.13 1078 01
175ZE HTEER * FAI7)LE 0.10 1208 02
171E8= BT EEIR = 'F R F 0.07 1118 03
175ZE HTEER = H EHih 0.09 1077 01
171E8= BIEEIR =H Hih 0.13 1077 02
175ZE HTEER KT b F 0.18 1037 01
171E8= BIEEIR /T 2 0.13 1076 01
175ZE HTEER /T Hih 0.14 1076 02
171E8= BIEEIR HET FAI7ILE 0.06 1162 03
175ZE HTEER FEHT Bith 0.12 1119 01
171E8= BT EEIR XH Hih 0.19 1119 03
175ZE HTEER EES R 0.10 1161 01
175E mPLR—TH FAI7I)LE 0.10 1314 03
175ZE mPR-TH FAI7IE 0.10 1264 02
175=E MPR=TH FAI7I)LE 0.10 1314 01
175ZE EHRMETH FAI7IE 0.08 1314 02
1715E J\EH B0 Bih 0.16 1216 01
175E \EH b FiEH FAI7IE 0.10 1215 02
1715E J\EH iR FAI7I)LE 0.11 1170 04
175E J\EH BAERT FAI7ILE 0.07 1170 01
1715E J\EH ¥/0 FAI7I)LE 0.11 1215 01
175ZE \EH EEH Bih 0.12 1172 02
1715E J\EH HEARET FAI7I)LE 0.08 1170 02
188 EF R EFHT RFTR Hifh 0.09 2326 02
188 ¥ SR EFHT B/AR b F 0.09 2478 01
188R 57 R EF T LA E Hifh 0.13 2517 01
188 ¥ SR EF T +t&H Bih 0.29 2428 03
1888 %7 AR EFHT LHEH Eiih 0.31 2478 03
188k B B EFET =g FAI7ILE 0.11 2426 02
188 EF R EF T JEHRNFI Hifh 0.19 2429 02
188k B SR EF T INE Bih 0.16 2428 01
188R 57 R EF T INELL Hifh 0.23 2428 02
18R EF AR EFHT | Bih 0.08 2377 04
188R 57 R EF T Z)il D F| 0.13 2378 01
188k B SR EF T O7E R Bih 0.14 2516 02
1888 %7 SR EPET SRH B 0.12 2376 01
18R EF SR EF T ERH Eih 0.17 2376 03
188R 57 R EF T THHAHE Hifh 0.14 2477 01
18R B SR EF T TR HE Hih 0.15 2517 02
188REF R EF T =10 Bih 0.27 2476 02
18R B SR EFHT REAN Bih 0.24 2516 01
188R 57 B EPET REANA Hih 0.11 2517 03
188R &5 AR EFHT HEES Hih 0.17 2515 01
188REF B EFET L Eih 0.11 2476 03




BEXMEEZLEDSM6EAAIEE [ &%)
NCD—ERIT. EXFMEEDAEEHERIZETAAEE (S 1m)ERH L-ED T,
B E SR SEEIESD Iyia
=1 KR S SH6E9R
K= INE [BAI: uSv/h] [ Ay 1 H/E| EMEES
18R 57 PR EF T JEn e L Bih 0.22 2516 03
188k EF B EPET hHE Bih 0.12 2326 03
188R B PR EFHT P Hih 0.33 2515 03
188k EF B EPET Ll Eih 0.08 2326 01
188R B PR EFHT =k FAI7)LE 0.07 2427 02
188R 57 B EPHT AP M Bih 0.24 2532 01
188R 57 AR EF AT #HARER 2ih 0.14 2532 03
188k EF B EPHT *EKNH Eih 0.19 2478 02
188R B SR EFET Bl FAI7)LE 0.09 2426 03
188REF B EPET AR H FAI7ILE 0.08 2427 04
188R 57 PR EFHT i) B F 0.09 2377 01
188REF B EPET i) FAI7ILE 0.11 2427 03
188R B PR EFHT B/ E B 0.17 2477 02
188R 57 B EFHT EREE] Eih 0.28 2429 03
18R £7 SR P ET EE Bih 0.14 2477 04
188REF SR EFHT _F 2Hh 0.17 2376 02
188R 57 SR P ET J\BBHEI Hifh 0.27 2532 02
1888 27 B B ET HR/LE Hih 0.24 2475 01
188R 57 SR P ET fa/ Lt Hifh 0.23 2515 04
188k EF REFATH K Bih 0.19 2089 01
188R 57 REFETE A b F 0.19 2089 03
188R 57 REFETE A fitan 2 0.18 2135 01
188R 57 REFETE A M/ E Hih 0.13 2086 02
188k EF REFATH K P HHh 0.13 1855 02
188R 57 REFETE A AGT AR [Eih 0.22 2041 03
188R 57 REFATE K BARHA Hih 0.17 2277 03
188R 57 REFETE AR Xa Eih 0.18 2181 03
188RE7 REFATH K HECARE 2 0.14 2088 02
188R 57 REFETE K /AR b F 0.15 2133 02
18R EF REFATH K rA/& Bih 0.24 2039 03
188R 57 REFETE AR MR RO F 0.16 2180 01
188 ¥ REFATH K = Eih 0.19 2132 03
188R 57 REFETE AR e E Eih 0.25 2086 03
188RE7 REFETE A ARH R F 0.14 2228 02
188R 57 REFETE AR INF R Eih 0.14 2039 01
188k 87 BREFRT K EXEE = 0.24 2039 02
188R 57 REFETE AR INF R Eiih 0.15 2040 01
188RE7 REFATH K INF R i 0.17 2040 02
188R 57 REFETE AR INF R Eih 0.11 2086 01
188k B BREFRT K INFEREE = 0.21 2087 01
188R 57 REFETE AR MR Hifh 0.12 2134 02
188RE7 REFRTH K B e Bih 0.23 2275 04
188R 57 REFETE AR T= RO F 0.23 2133 03
188RE7 REFRTH K THER Bih 0.20 2134 03
188R 57 REFETE AR TEEE&H Eiih 0.27 2132 02
188RE7 REFRTH K THE Bih 0.26 2180 03
188R 57 REFETE AR TH/EB 2ih 0.13 2085 03
188k B REFRTH K TLLUE Bih 0.26 2041 02
188 EF REFETE AR B§/E Hifh 0.24 2182 01
188RE7 REFRTH K E Bih 0.20 2089 02
188R 57 REFETE AR /N Eiih 0.16 2276 03
188RE7 REFRTH K SB[ Bih 0.29 2228 03
188R 57 REFETE AR EEM Eiih 0.23 2229 01
188R 57 REFET T AR BEF 2ih 0.14 2181 01
188R 57 REFETE A g / {E EHh 0.15 1855 01
188REF REFRTH K LE /£ Hih 0.20 1855 03
188R 57 REFETE A /R B 0.15 2228 01
188REF REFETE A Z 15 b F 0.13 2325 02
188R 57 REFETE K B 2 0.17 2182 02
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188R 57 REFETE A hiEE F 0.18 2133 01
188R E7 REFETE A {hzx L F 0.12 2087 03
18R 57 REFET T AR Fam Bih 0.32 2276 01
188R 57 REFETH K r{t Eih 0.18 2040 03
188R 57 REFETE A ZEARFP b F 0.15 2182 03
188R 57 REFETE K R4 H Bih 0.18 2088 01
188 B REFETE A A4 H i ih 0.22 2135 03
188R 57 REFETE K EHIB b F 0.16 2132 01
188R B REFET T AR PN Hih 0.13 2277 02
188R 57 REFETH K & Bih 0.20 2276 02
188R 57 REFETEA Bl F 0.15 2178 02
188R 57 REFETE K Bl fibF 0.13 2179 02
18R 57 REFET T AR B/& Bih 0.19 2038 01
188R 57 REFATE K BH/E R F 0.08 2085 02
188R E7 REFETE A ER EHih 0.19 2181 02
188R 57 REFETE A IS Hih 0.14 2227 01
188R 57 REFETE A L& (e 0.15 2227 03
188R 57 REFETE A X PMER N R F 0.12 2135 02
188R 57 REFETE A MR EHih 0.17 2180 02
188R 57 REFATH K EDJE] Hih 0.20 2226 03
188R 57 REFETE A KA EHih 0.20 2179 03
188R 57 REFATH K =0 2 0.13 2087 02
188 EF REFETE A Bt 2ih 0.13 2041 01
188R 57 REFETE A Bta Hih 0.12 2088 03
188R 57 REFETE A [WA fbF 0.17 2134 01
188R 57 REFETE A KEME Hih 0.14 2227 02
188R 57 REFETE AR EFR Eih 0.16 2178 03
188RE7 REFATH K EF 2 0.13 2179 01
1888 57 REFET A AR R Eih 0.20 2280 01
188k 87 BREFET KAR XA Eih 0.28 2378 02
188R 57 REFET A AR RiEG Hifh 0.25 2330 02
18R EF BREFET KAR REES Bih 0.22 2330 03
188 EF REFET A AR /N BHih 0.25 2327 01
18R EF BREFET KAR EXRAR EHh 0.11 2232 04
188R 57 REFET A AR LtF BHih 0.25 2229 03
18R EF BREFET KAR 1B/ K1E Bih 0.12 2281 01
188R 57 REFET A AR =R Bih 0.16 2229 02
18R EF BREFET KAR A&RH Bih 0.28 2328 02
188 EF REFET A AR L Bih 0.20 2230 02
188R 57 IREFAT K AR IS 2ith 0.23 2231 03
188R 57 REFET A AR Zia RO F 0.12 2233 01
188R %7 EREFET A AR o B F 0.14 2281 02
1888 %7 REFET A AR B Eiih 0.22 2281 03
188k B BREFET KAR /1t Bih 0.20 2231 01
188 EF REFET A AR [PZi3 Hifh 0.19 2232 01
188k B BREFET KAR Ho Bih 0.18 2233 02
188 EF REFET A AR A RO F 0.12 2233 03
188k B BREFET KAR E/RKIU Bih 0.23 2277 01
188 EF EREFET A AR i3 Hifh 0.10 2429 01
188R %7 EREFET A AR hEE Hih 0.19 2232 03
188 EF REFET A AR i e Hifh 0.19 2329 03
188k B BREFET KAR i3 Bih 0.17 2327 02
188 EF REFET A AR IEER Hifh 0.23 2329 01
18R B BREFHET K AR i)l Hih 0.17 2377 02
188REF REFET A AR /X Hih 0.22 2231 02
188REF REFET A AR ZZRH R F 0.08 2280 03
188REF REFET A AR fiil Hih 0.24 2430 01
188REF REFET A AR B4R F 0.12 2279 02
188R 57 REFET K AR AR [y 0.08 2280 02
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188R Ep REFET A AR EHA Hih 0.17 2278 01
188k EF IREFAT A AR RIEEF Bih 0.28 2379 02
188 B BREFET K AR RIERF B ith 0.14 2379 03
188R 57 REFAT A AR AR b F| 0.14 2430 02
188R B BREFET K AR AR i ih 0.18 2430 03
188R E7 IREFAT A AR Zr b F 0.08 2328 03
188R B REFET A AR M Hih 0.21 2378 03
188k EF IREFAT K AR el Bih 0.08 2328 01
188R B REFET A AR = Hih 0.24 2379 01
188R 57 IREFAT A AR BH £8 i Bih 0.18 2327 03
188R B REFET A AR Bl Hih 0.11 2279 03
188REF REFET A AR STFE Bih 0.11 2278 02
188k 5 RETET K AR nE 2 0.16 2278 03
188R 57 EREFRT K AR I\ 2Hh 0.22 2329 04
188R B REFETAAR N Hifh 0.14 2330 01
188R &7 EREFRT K AR J\{RHT Eih 0.15 2230 03
188R B PREFET K AR Fih i 0.19 2279 01
188R &7 EREFRT K AR FAl Bih 0.25 2230 01
188 EF tREFETERE EEA (e 0.21 2272 03
188R ¥ R EFETER A Aix b Fl 0.09 2274 01
188 EF tREFETERE Z=RIN i 0.18 2324 02
188R ¥ R EFETER A iEE b F 0.09 2474 01
188 EF tREFETERA A Hih 0.19 2425 01
188k EF R EFETER A AETERAN [Eih 0.22 2424 02
1888 57 B B BT B A LEJIE 2ih 0.24 2374 03
188k EF R EFETER A i1 4 Eih 0.18 2273 02
18R 57 tREFETERA ke BHih 0.21 2375 04
188k 87 R EFETER A ttTH Eih 0.23 2325 01
188R 57 tREFETERA It TH Bih 0.25 2325 03
188k 87 R EFETER A k& Eih 0.24 2476 04
18R 57 tREFETERA [ Bih 0.25 2322 03
188k 87 R EFETER A I Eih 0.19 2323 03
18R 57 tREFETERA EARKIE BHih 0.21 2322 04
18R EF SR EFETER A EER Bih 0.21 2474 02
18R 57 tREFETERA BE=E#& BHih 0.15 2424 05
188k 87 R EFETER A REBE Eih 0.19 2375 02
188R 57 tREFETERA [ 2ih 0.25 2375 03
188k 87 R EFETER A XEH Eih 0.16 2321 02
188R 57 tREFETERA XEH FbF 0.11 2321 03
188k EF R EFETER A Z I avHyy)—k 0.10 2426 01
1888 %7 tREFETERA FaiRAS B 0.20 2323 01
188RE7 REFRTER A it Bih 0.15 2323 02
1888 %7 tREFETERA 78 [ F B 0.09 2275 02
188 ¥ SR EFETER A BI5ME Bih 0.15 2474 03
188 EF tREFETERA B=AMK Hifh 0.24 2374 04
188 ¥ SR EFETER A RiER Eih 0.13 2475 02
188 EF tREFETERA t2=MH Hifh 0.22 2425 02
188REF SREFETERA 2 M b F 0.14 2425 03
188 EF tREFETERA ZEH Hifh 0.24 2324 04
188 ¥ SR EFETER A fth Eih 0.21 2374 01
1888 %7 tREFETERA % Eiih 0.13 2475 04
188REF EREFETERA SEPYERE R F 0.11 2274 02
188 EF tREFETBRA A Hifh 0.25 2424 03
188R 57 SREFETERE S Hih 0.17 2324 01
188REF tREFETBRA F1E Hih 0.21 2322 01
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